PbC|4 (s)

9) AGNOs aq)
h) KsPOs (ag)
) Al(OH)3 )
j) FeS04 ag)

2.
a) AgNO; + NaCl -> AgCl + NaNOs
AQ*@aq) + Claq -> AgClys)

b) ZnSO, + BaCl, -> ZnCl, + BaSO,
Ba?*aq) + SO4%(aq -> BaSOy

C) 2(NH4)3PO4 + 3N|(N03)2 - 6NH4N03 + N|3(PO4)2
2PO43'(aq) + 3Ni2+(aq) -> Ni3(PO4)2(5)

d) 2Kl + MgSO; -> K,SO,4 + Mgl
No reaction

e) Pb(NQOs), + 2Nal -> Pbl; + 2NaNO;
Pb*(aq) + 2l'ag) -> Pblz )

3.

Mix a sample with an iodide — if there's a precipitate, it's lead

Otherwise mix a sample with a hydroxide — if there's a precipitate, it's magnesium
Otherwise it's sodium

4,

1K

2 Ag
3 Ba
4 Cu
5 Sr
6 Fe?
7 Pb
8 Na



